

The Children's Hospital, University of Child Health Sciences

Ferozepur Road, Lahore Phone # (92) (42) 99230901-23 Fax # 99231560

Lain Explore Scienting

No. P.C./_3/8____/CH&UCHS

Dated/2-01-24, 2024

To

Mr. Abdul Wahab

I/C Programmer (I.T.) Health Department,

Civil Secretariat, Lahore.

Subject: -

REQUEST FOR UPLOADING THE MINUTES OF FINANCIAL BID OPENING COMMITTEE MEETING REGARDING THE HIRING OF PRIVATE SECURITY

SERVICES FOR THE YEAR 2023-2024

Please find enclosed herewith minutes of financial bid opening committee meeting regarding the **Hiring of Private Security Services** for The Children's Hospital & University of Child Health Sciences, Lahore for the year 2023-2024 needs to be uploaded on the Health Department website.

Your early response will be highly appreciated.

PROF. DR. TIPU SULTAN

MBBS, FCPS, M Sc (UK), (FRCPCH (LONDON)

Prof. of Paediatric Neurology

Medical Director

MINUTES OF FINANCIAL BID OPENING COMMITTEE MEETING REGARDING THE HIRING OF PRIVATE SECURITY SERVICES FOR THE YEAR 2023-2024 HELD ON 09-01-2024 AT 11:00 A.M. IN THE CONFERENCE ROOM OF THE ADMIN BLOCK OF THE CHILDREN'S HOSPITAL, LAHORE

In compliance of letter No. 1825-27/CH&UCHS Dated 06-01-2024, financial bid opening meeting held on 09-01-2024 at 11:00 a.m. in the conference room of the Admin Block The Children's Hospital, University of Child Health Sciences, Lahore regarding the Hiring of Private Security Services for the year 2023-2024.

The following officers attended the meeting:-

- Dr. Abid Ali Qureshi Prof. of Radiology / Chief Purchase Officer
- Dr. Syed Ali Abuzar AMS (Coordination)
- 3 Dr. Javed Iqbal Director Finance
- Dr. Zeeshan Haider
 AMS (Purchase) Lahore General Hospital, Lahore
 Representative from SHC&ME Department
- Dr. Sajid Ali Khan AMS (Store)

The meeting started with the name of Almighty Allah, the Most Gracious, and the Most Merciful.

Dr. Syed Ali Abuzar AMS (Coordination) briefed the committee that financial bids of technically responsive firms were opened. The committee opened the financial bids in presence of the representatives of the firms. The detail is here by attached for Hiring of Private Security Services as under:-

E / H

Page 1 of 3

MINUTES OF FINANCIAL BID OPENING COMMITTEE MEETING REGARDING THE HIRING OF PRIVATE SECURITY SERVICES FOR THE YEAR 2023-2024 HELD ON 09-01-2024 AT 11:00 A.M. IN THE CONFERENCE ROOM OF THE ADMIN BLOCK OF THE CHILDREN'S HOSPITAL, LAHORE

Sr. No.	Name of Firm	Technical Evaluation Reports (Marks)	Technical Status	Category	Qty	Unit Price (Rs.)	Total
1.	M/s Fair Security System (Pvt) Ltd	85 / 100 Marks	Responsive Ist Lowest	Security Supervisors	03	45,404.95/-	Rs. 136,214.85 /-
				Security Guards	85	45,404.95/-	Rs. 3,859,420.75/-
				Management Charges / Per Month			Rs. 1.22/-
						Per Month Total	Rs. 3,995,636.82 /-
				Grand Total Per Annum			47,947,641.84/-
2.	M/s Well Wisher Security Services (Pvt) Ltd	68 / 100 Marks	Responsive 2nd Lowest	Security Supervisors	03	48,405/-	Rs. 145,215 /-
				Security Guards	85	45,537/-	Rs. 3,870,645/-
				Management Charges / Per Month			Rs. 42,240/-
						Per Month Total	Rs. 4,058,100/-
					Grand	Total Per Annum	48,697,200/-
3.	M/s Rahbar Guards & Security Services (Pvt) Ltd	75.5 / 100 Marks	Responsive	Security Supervisors	03	45,536.76/-	Rs. 136,610.28/-
			3 rd Lowest	Security Guards	85	45,536.76/-	Rs. 3,870,624.60/-
				Management Charges / Per Month			Rs. 680,716.22/-
				Per Month Total			Rs. 4,687,951/-
				Grand Total Per Annum			56,255,412/-

Page 2 of 3

Zh Ha

MINUTES OF FINANCIAL BID OPENING COMMITTEE MEETING REGARDING THE HIRING OF PRIVATE SECURITY SERVICES FOR THE YEAR 2023-2024 HELD ON 09-01-2024 AT 11:00 A.M. IN THE CONFERENCE ROOM OF THE ADMIN BLOCK OF THE CHILDREN'S HOSPITAL, LAHORE

Sr. No.	Name of Firm	Technical Evaluation Reports (Marks)	Technical Status	Category	Qty	Unit Price (Rs.)	Total
4.	M/s Watch & Watch	86 / 100 Marks	Responsive 4th Lowest	Security Supervisors	03	51,373/-	Rs. 154,119/-
				Security Guards	85	45,646/-	Rs. 3,879,910/-
				Management Charges / Per Month			Rs. 666,786/-
						Per Month Total	Rs. 4,700,815/-
					Grand	Total Per Annum	Rs. 56,409,780/-

(The Proceeding of the meeting concluded with the vote of thanks to the chair).

Dr. Sajid Ali Khan AMS (Store)

Dr. Zeeshan Haider AMS (Purchase) Lahore General Hospital, Lahore Representative from SHC&ME Department Dr. Javed Igbal Director Finance

Dr. Syed Ali Abuzar AMS (Coordination)

Submitted for information & approval please

Dr. Abid All Qureshi Prof. of Radiology / Chief Purchase Officer

Medical Director